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lInstructions
1. This Question Booklet consists of 80 multiple choice objective type questions te be
| answered in 120 minutes. PART - A consists of 65 Multiple Choice Questions and
PART - B (General Knowledge) consists of 15 Multiple Choice Questions.
| 2. Every question in this booklet has 4 choices marked (A), (B), (C) and (D) for its
answer.
I 3. Each question carries one mark. There are no negative marks for wrong answers.
4. This Booklet consists of 24 pages. In case of any discrepancy or defect in the booklet, the
| same may be informed to the Invigilator and new Booklet of same code may be taken.
5. Ensure to bubble the appropriate Question Booklet Code (A/B/C/D) on the OMR
| Answer Sheet.
6. Answer all the questions on the OMR Answer Sheet using Blue/Black ink ball point
pen only.
I 7. Before answering the questions on the OMR Answer Sheet, please read the instructions
| printed on the OMR Sheet carefully.
8. The OMR Answer Sheet should be handed over to the Invigilator before leaving the
] Examination Hall. The Question Booklet is to be retained by the candidate.
9. Calculators, Mobile Phones and any other Electronic gadgets are not allowed into the
| Examination Hall.
10. The seal of the Booklet should be opened only after signal/bell is given.
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PART - A

L. BJT airogpanbers: escrnod Sg, $8oes sodain 5356 Mifydoss o7 3a0a0E, o8 s’
2 5B EoBrRosnETro 9
(A) roroe §856, eroes B Sobakw Ferde Clayel]
(B) Jrerdes &80, e GC0ed SoBakn FErGE 5856
(C) Jrerte amded, Fertes 5856 B0k Ferdse B9
(D) rerées 88, Forser 5856 5000 Fgroe &0ed
To amplify voltage, current and power signals using BJT amplifiers, which of
the following configurations are used ?
(A) common collector, common base and common emitter
(B) common base, common emitter and common collector
(C). common emitter, common collector and common base
(D) common base, common collector and common emitter

2. 0oBd eRBebom dod 50y DS9S SN Brdess &8yd SavaD ESBIAOLS .

(A) o BuY, 1S ook SiosEo (B) Go%d 541y, @gbeso 350050 S0
(C) 23, @ghbeso SoBO% SoBd By (D) Seosise, ©gheso Sbain RS
Relaxation oscillators can be used to produce output waveforms of
(A) saw-tooth, sine and square (B) saw-tooth, triangle and square
(C) sine, triangle and saw-tooth (D) . square, triangle and sine
3. 316 IGBT Gloo) soes> €365,
(A) 7e5, Sareo $o80%0 Se0s (B) 7e5, cicded sodaso $856
(C) &8, cicxoed 3000k 5856 (D) &5, Soreo 58050 e
Three terminals of a power IGBT are
(A) gate, source and drain- (B) gate, emitter and collector
(C) base, emitter and collector (D) base, source and drain

4. (EoB 33" DB $BHO 5 9
43 Cﬁmgbﬁcﬁog’s 830.
(A) +ve 7§ Sodk @Sodod —ve T°Q 56§ o908
(B) 28 gosends el D853 BT CEBI08 HodAH S;BTE (oseats LETIE LS 25805300
(C) Jgpesr eow E'eod’ it ¥6070) Sthisood v $SHSekecHE o
(D) dgidycsr a5 sel Seodram
Which of the following is not correct ?
The electric lines of force
(A) start from a positive charge and end at a negative charge-
(B) of same polarity repel each other and opposite polarity attract each other
(C) always enter or leave a conducting body at right angle
(D) always intersect each other
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5. 96 v6E’ e8Hed 1.55 V emf 50ain 0.2 0 eos6s 5850058 eoser Ssrosdor 3 Q,
&FEH wBReErAosnG dotran, &' dud Jots ¢ '
(A) 0.513 A (B) 0.500 A (C) 0.444 A (D) 0.484 A
Ten cells each of 1.55 V emf and 0.2 Q internal resistance, are connected in
parallel across a load of 3 Q. The load current is
(A). 0.513 A (B) 0.500 A (C) 0.444 A (D) 0.484 A

6. R0l B0’ IGIVS grrio Sood St ¥ ook, TS B Sxodoegomr &otod ¢
Aa) T, -1, T 0800 Ty BE& BRS grito oo, IS $r805 Dodako °C &
B) T, —T,}, T, sobato T, 36 33 grrio GBoots), e S080% Dodao °K &

(©) le - 'I‘; , Ty SoBao Ty Béb B greio Gk, &S So8ose Dodave °C &
D) Ty =Ty, T; 50650 Ty 36 B grivo Booky, esdfifes o000 Sudaho °K &

In filament lamps, the radiation of energy from a heated body is proportional to
(A) 'TI“:(; T, , where T, and T, are temperatures of heated body and medium
(B) TTI}{‘:— T2'4 , where T; and T, are temperatures of heated body and medium
(CL ?;‘:40— T24 » where T| and T, are temperatures of heated body and medium
(D) ?;‘;40;( T; , where T, and T, are ‘Eemp‘eratures/ of heated body and medium

i

7. 800 &0 /manis JOFE GRTE ergoSE"R SorHE $oerod.

() | eer Dessso 55 Dessso esds | (1) |50

(0) | DS oo (i) | erooni3es
() [*&an0 esd (i) | &3e5 3¢5
(d) | 65 desso 56 Fressivo 28 | (V) [ apond AS
(V) [Deasd

(A) (a)-(); (b)-(v); (c)-(i); (d)-(iv) (B) (a)-(iv); (b)-(1); (c)-(v); (d)-(iii)

(C) (a)-(ii); (b)-(v); (c)-(1); (d)-(iv) (D) (a)-(iv); (b)-(v); (c)-(i); (d)-(ii)

Match the following of vapour/gas with the colour in electric discharge lamp.

(a) | Mercury vapour at low pressure | (i) |Yellow

(b) | Neon gas (ii) | Bluish white

(c) | Sodium vapour (iii) | Bright white

(d) | Mercury vapour at high pressure | (iv) | Bluish green
(v) |Red

(A) (a)-(iii); (b)-(v); (c)-(3); (d)-(iv) (B)« (8)-(iv); (b)-(1); (c)-(v); (d)-(iii)
(C) (a)-(id); (b)-(v); (c)-(1); (d)-(iv) D) (a)-(v); (b)-(v); (c)-(); (d)-(ii)
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505 Bahoes BeS Y Aoty BEoNBE0 &1 5066 eotxod. -
(A) 6000 AU 9500 AU (B) 4000 AU - 7500 AU

(C) 2000 AU - 5500 AU (D) 1000 AU - 4500 AU
The wave-length of visible radiant light energy lies in the range of
(A) 6000 AU - 9500 AU (B) 4000 AU - 7500 AU
(C) 2000 AU - 5500 AU (D) 1000 AU - 4500 AU

~oNS BB 96 35 3Epans @y, de e9eSipes BHRS SEE 100 V o8 E@BrE £35 6T 565
BO0560058 1 SODA KOP eDe5es S Hoes 9

(A) 88 100 V $:8050 141 V (B) todm 100 V S0 157 V

(C) S 50 V 5080k 157 V (D) 655 50 V Sobaiw141 V

The dc output of a single-phase full-wave rectifier is 100 V with a resistive load.
If one diode is open-circuited, what are the average and peak output voltages ?
(A)+ 100 V and 141 V respectively (B) 100 V and 157 V respectively

(C) 50V and 157 V respectively (D) 50V and 141 V respectively

PR 336 YS0d" SoGb M0aty eraned HE 376 S56B otk 8830 Srety
E':')&%GJ&}& GOLIPON0 9 -

A) ©0y 26550 areay B) @5 Sesso Sreathy

C) Jab resb D) @ey 2o 3805 el hesso trexs dotr

In thermal power stations which type of heaters are installed in between
condenser and boiler feed water pump ?

(A) Low pressure heaters (B) High pressure heaters.

(C) Air heater (D) Both low pressure and high pressure heaters

&8 @S- Syt 60 Botio JodoR ErSyry 68 Aysaond, 408 36 Ha &y 9

(A) B g e, 5e5 $80e5 BB soe0d (B) 30 SKy A eSBPAig0d

(C) &2 5657830 DO (D) &9 drsoggso 8oy

If an auto-transformer is compared with two-winding transformer, which of the
following is not correct ?

(A)s Its short circuit current is lower (B) It uses less copper

(C) Its size is smaller (D) Its efficiency is higher

SEIRSE” esogd Sy o, ByBod odoh P 335 HeSRootsin JosEod.

(A) 28 isogd K03 oesd Desogd Jsmre eotnod

(B) @reo¥ soeude Soil 280 Sevden SIS 0600

(C) ®¥oib Jodioh ooy, sotso @¢5D08 Disogd Koi3 DO

(D) 28ocid dppesr B st ge5 eow owd

Choose a correct statement on secondary winding of current transformer in a
substation.

(A) The secondary current is higher than primary current

(B) The secondary turns are lesser than primary turns

(C) The thickness of secondary winding is smaller than that of primary
(D). The secondary should always be short circuited
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25 DoRS DO er&r5 90% 78 8 5 0o 95% Jrsoces) $DA eotnod. F'-E'E HoBoko
26 &E 8¢5 ngumgﬁoaoé? -

(A) StoRr 0% 558050 95% odl 8K (B) St 95% b 90%

(C) Stowm 90% 558050 95% (D) stosmr 100% 5000k 95% Sods B

A single-phase transformer has a maximum efficiency of 95% at 90% of
full-load. Its efficiency at no-load and full load are

(A) 0% and less than 95% respectively

(B) 95% and 90% respectively

(C)s 90% and 95% respectively

(D) 100% and less than 95% respectively

208 Te38° OO HBSO ¢ 7

oS 3merd Gk, 506 e 5885 Eeriso D 9

(A) 38583 DYHS® e

(B) asSseds 99 3¢ 6 6 ¢EsE” e

(C) ©aHIES So8 SHoD

(D) SAof Bhod

Which of the following statements is not correct ?

The effect of skewing of rotor slots of induction motor is

(A) increase in transformation ratio

(B) decrease in rotor resistance for a given slip
(C). reduction of magnetic hum

(D) reduction of cogging

3-9% 4-$, 50 Hz :?;csgs Srerd 1460 rpm 25¢ Seiorgod. @idoes §go o), Irdy Sobaks

6606 $B0eS Gk, B850 Dowoisod.
(A) 1460 rpm o800 1.33 Hz (B) 1460 rpm So8ck» 48.67 Hz
(C) 1500 rpm &Soba%n 48.67 Hz (D) 1500 rpm so8as» 1.33 Hz

A 3-phase, 4-pole, 50 Hz induction motor runs at 1460 rpm. Determine speed
of rotating field and frequency of rotor current.

(A) 1460 rpm and 1.33 Hz (B) 1460 rpm and 48.67 Hz
(C) 1500 rpm and 48.67 Hz (D)s 1500 rpm and 1.33 Hz
8ot 8D BE X 2rgesd ook FRoETe So0aH EHETe Hoses

(A) Soosre PbSO, 508050 Pb (B) so0n Pb 080w PbSO,

(C) Stosne Pb &S08ai» PbO, (D) Scosne PbO, Sxbokw Pb

The positive and negative plates of lead acid battery are

(A) PbSO, and Pb respectively (B) Pb and PbSO, respectively
(C) « Pb and PbO, respectively (D) PbO, and Pb respectively
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200 Ah Jrisat550 SONS ersead 25% 7§ oo, 4 ot 1o 10 A5G 7§ Do S, 30
K0S Jod g Boextiaiood ?

(A) 90 Ah (B) 140 Ah (C) 65 Ah (D) 200 Ah

A battery having a 200 Ah capacity is 25% charged. After being charged at
10 A for 4 hours, it will be charged approximately to

(A) 90 Ah (B). 140 Ah (C) 65 Ah (D) 200 Ah

Bod T3 ool ¥BI oot ok

(A) DGk 6 0O wosls E'ER) SOA éotaod S0aio br§ Baerieso
(B) 2reso8 ub 6535 eodis GG SN Gotanod $0050 Br§ Dot
(C) E0tb 16 wi woBss D) SOA doeod Sodako 8§ Babisis)
(D) 2%oib w6 By oS DE'GrD) $OA Gotxod 3000k H5rf Sabedit

Choose a correct statement from the following.

(A) Primary cell has high internal impedance and cannot be recharged
(B). Primary cell has low internal impedance and cannot be recharged
(C) Secondary cell has high internal impedance and can be recharged
(D) Secondary cell has low internal impedance and cannot be recharged

ergabod, TeS-eisb Jisogso Jeiyear eobaib-eisb Friagso $oi3 SESIT otwod,
dotsasoes

(A) &5y S8, rgoh S 5o IS éotaod

(B) &dys T&S, 5°Rof S'Pe Kol SEyI éota0d

(C) &asy §30e5, Qo K8oess B85S

(D) &y 9000, FeRoh Bisoado ol3 SEe Gotaod

In batteries, Watt-hour efficiency is always less than ampere-hour efficiency
because

(A) discharge voltage is more than charging voltage

(B) discharge voltage is less than charging voltage

(C). discharge current is equal to charging current

(D) discharge time is less than charging time

5 eargel By 08563 20 W, 6 575 553 60 W eX TV 100 W $58050 830 &588eETen
500 W 0.8 3 %v;,gs;s; DA o) ENE 6'6 §%50 BN $oB0E SREFOI 3986
Bedohess aébodo&.

(A) 800 VA (B) 1.0 kVA (C) 1.5 kVA (D) 1200 VA
Calculate safe and suitable inverter rating for a domestic load of 5 tube lights
of 20 W each, 6 fans of 60 W each, one TV of 100 W and kitchen appliances of
500 W assuming a power factor of 0.8.

(A) 800 VA (B) 1.0 kVA (C) 1.5 kVA (D), 1200 VA

-6- Q
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21. 2w &Bee de 3rerd Dofd S ac Sood de HS 3 8565 woBosatireiod S8k E¥iPE
Bk, POOR E'e20 Moy @O BRerEH BBE SHod' $eidz08. @S ook, Sy o TBE
SR8 BRosEDd PBoh E'0 Jod Gord 2

(A) 120° (B) 180° (C) 60° (D) 90°
A separately excited dc motor is fed from a single-phase ac to dc full-wave

converter and motor runs at rated speed when firing angle of converter is zero.
To reduce speed of the drive to half rated speed, the firing angle should be

(A) 120° (B) 180° (C), 60° (D) 90°

22. 568 g S0 FENHEYE [ » SR 307 dotod.
(A) @rSogio 3800 SR0D 56 BRI eotod i
(B) @togiod® T dotod 30050 SuhodE” BEEREeiaEs0d
(C) @Sogod® Dessireysntionod 005 ofodE® BB éotwod
(D) %68 wowr JEOA &otod
In moving iron type voltmeters, the marking on scale is
(A) crowded at starting and ending
(B) crowded at starting and dispersed at ending
(C), dispersed at starting and crowded at ending
(D) uniform throughout the range {

23. PMMC 58550&° daboes &8 (T,) § (rded 508’ esscairnosmtiotiood. Ty 50 erb) wond
6 D50 E'ea0 Ho0Ak0 T DeSogH ero0wd, esisyid

(A) Tgqoe<ISoBasw T, o< sin 0 (B) Tgq o< I0Basn Ty o< 6

(C) Ty o I2 50000 T, o sin O (D) Tg4 o< 12 550050 T, o< 0

In a PMMC instrument gravity control is used for controlling torque (T,).

If T, is deflecting torque, 0 is angle of deflection and I is current, then

(A) Tqe<land T, e sin 0 (B Tqe<land T, <0

(C) T,4e<I?and T, o sin @ (D) Tye<I?and T, < 0 |

24. ‘CP &3 soreo §F¢8 ¥ (candle power), 508050 o) iy H’ 565 5500100, ¢S5 D’
3¢5 (= D 38 Sareo Sodan Dot $x¢ o) (D > H), eand, @by, Sareo @ot |

QDT (2570 Jodh @HooH ¢

CP CP CP CP
@) 4 B - © o7 (D) )
If ‘CP’ is candle power of source at a height ‘H’ and ‘D’ is distance between the
source and a point where D > H, then illumination vertically below the source is
CP « CP CP CP
@A) 3 B = € 52 (D) s

A - Q
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25. FOTEOINS 3083080RE’, MSCP e aoé}dsa TRIa)
(A) Median Spherical Candle Power (B) Mean Spherical Candle Power
(C) Mean Solid Candle Power (D) Mean Spherical Cosine Power
In Illumination engineering, the abbreviation MSCP stands for
(A) Median Spherical Candle Power (B) Mean Spherical Candle Power

(C)e Mean Solid Candle Power (D) Mean Spherical Cosine Power
26. 08 550 LSO T -5l SO0,
(2) [ @&ssg 8yS @ gy
(b) [ 3oy €:3yS (i) |28 sgo
(i) [ @208
(i) |5

(A) (a)-(id), (iii); (b)-(iv) (B) (a)-(i),(iv); (b)-(iii)
(C) (a)-(i),(iv); (b)-(i) (D) (a)-(ii),(iv); (b)-(ii)
Match the following types of turbine with their sub-types.
(a) | Reaction turbine | (i) |Francis
(b) | Impulse turbine (ii) | Pelton wheel
(iii) [ Propeller
(iv) | Kaplan

(A) (a)-(ii), (iii); (b)-(iv) (B) (2)-(i),(iv); (b)-(ii)

(C)s (a)-(id),(iv); (b)-(i) (D) (a)-(iii),(iv); (b)-(ii)
27. e Bargd dBol $5R08 K’ Dews god &owd

(A) @»doafoes‘ 1 5063 .Q&U:ﬁ SoBo0 et YOS 1 & S50

(B) ©Sogios® 1 5063 &5 080 Fgroes B 1 8 S50

(C) @rogio $B0%0 Fgrdes RBS 1 8 35730

(D) @rSogos’ 1 Koll $5S S00akn Fgrdes RBE’ 1 o8l JEoS

The critical value ‘k’ of nuclear reactor should be

(A) greater than 1 at starting and equal to 1 at normal condition

(B) less than 1 at starting and equal to 1 at normal condition

(C)s equal to 1 at both starting and normal conditions
(D) less than 1 at starting and greater than 1 at normal condition

28. § EroNO 86 B ABCD Hotosren

(A)A=1;B°;Y;C=0;D=1 B) A=1;B=2Z;C=0;D=1
(C) A=1;B=0;C=Z;D=1 (D) A=1;B=0;C=Y;D=1
The ABCD constants of a short transmission line are

A) A=1;B=Y;C=0;D=1 B)*A=1;,B=Z;C=0;D=1
C) A=1;B=0;C=Z;D~=1 D) A=1;B=0;C=Y;D=1

A -8- Q
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29, Treold JSHo SgSPew Sods §335eIC57000. BSoBog So0AT WBBLO 58P0 ooy BB Fooaosso

30.

g0 S0d. ,

(@) vag = 400 sinwt; vge = 400 sin(ot - 120°); vy = 410 sin(wt — 240°)

(b) vag = 400 sinot; vge = 400 sin(ot — 125°); vo, = 400 sin(wt + 120°)

() vag = 400 sinot; vge = 400 sin(ot - 120°); vos = 400 sin(wt + 120°)
(d) vag = 400 sinwt; vge = 400 sin(ot — 120°); voa = 400 sin(ot — 240°)

(A) (c) dSottoeg0 Sodoko (a) dSodoego (B) (b) eRSodoego Sodako (a) BSodoeso
(C) (b) 0308050 SHBA (d) 350 (D) (d) Ssosoego Sodakw (c) esdsodoos0
Four supply systems are given below. Find the correct combination of balanced
and unbalanced systems.

(a) vag = 400 sinwt; vge = 400 sin(wt — 120°); vo, = 410 sin(ot — 240°)

(b) vag = 400 sinwt; vge = 400 sin(wt — 125°); v, = 400 sin(wt + 120°)

(c) vag = 400 sinwt; vge = 400 sin(ot — 120°); vo, = 400 sin(wt + 120°)

(d) vap = 400 sinwt; vgc = 400 sin(wt — 120°); v, = 400 sin(wt — 240°)

(A) (c) is balanced and (a) is balanced

(B) (b) is unbalanced and (a) is balanced

(Cp (b) is unbalanced and (d) is balanced

(D) (d) is balanced and (c) is unbalanced

808 78 S50 Ted GTIEERE HOwyod

(a) | 5356 23§ @ [~
(0) [5 B35S 25§ (i) |ges
() |BRdsed a8 (i) | eeao

) |

(A) (a)-(id); (b)-(iv); (c)-(3) (B) (a)-(iii); (b)-(i); (c)-(iv)
(C) (a)-(iii); (b)-(i); (c)-(ii) (D) (a)-(iv); (b)-(iii); (c)-(ii)
Match the following sources of energy with their examples.

(a) | Conventional energy (i) | Wind

(b) | Non-conventional energy |(ii) | Tidal

(c) | Renewable energy (iii) | Nuclear
(iv) | Hydro

(A) (a)-(i); (b)-(v); (c)-(1) (B) (a)-(ii); (b)-(i); (c)-(iv)
(C) (a)-(iii); (b)-(i); (c)-(ii) (D) (a)-(iv); (b)-(iii); (c)-(ii)

-9- Q
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306 30BeS" BB DenSo @Y SOS SMHEe EIF KoK,

(A) ErSoto, K03.erE), g &'E erd), F-E'E 550k Bos~dE Jfo

(B) 3:505®% Jrfo, 105 e, 70 &G erb), F-E°E S8k Prdogio

(C) @rSogio, 35°8 &G erb), 10y 66, F-E'E S0k $5057dF Srio

(D) %505°98 Jtfo, F-8'&, DE-EG, ex§), 1036576}, 50080 Grdogio

Identify the correct decreasing sequence of slip values at the following conditions.

A) starting, maximum torque, full-load torque, no-load and synchronous speed
e synchronous speed, maximum torque, full-load torgue, no-load and startin
(D

starting, full-load torque, maximum torque, no-load and synchronous spee
synchronous speed, no-load, full-load torque, maximum torque and starting
ONS H gotsS Brrerb Bk HD 0.06. I35 HOR HS s°6e0mT BB JoB ©HBES ?
(A) 0.94 (B) 1.94 (C) -0.06 (D) 1.06
The slip of a single-phase induction motor is 0.06. Then slip due to backward

rotating field is
(A) 0.94 (B) 1.94 (C) -0.06 (D) 1.06

de 285 Irerbe K800 Sob T3 Kool Sy VeSBIS B0

ac ¥8H0° de 285 37655 Loyt

A) Irerd F§ st " (B) e ard epiood

C) Frsagso BEn ciotaod D) 56 56 B doeaod
Find a wrong statement from the following on dc series motor.
When ac supply is fed to a dc series motor

A) the motor will not start B)e the motor will start

C) the efficiency is low D) the power factor is low

90106 G S 56 ger AsDosedtod.
Arithmatic sum of induced emfs in a coil

A

(A) Phasor sum of emfs induced in that coil

N Phasor sum of emfs induced in a coil

(B) Arithmatic sum of induced emfs in that coil

© Phasor sum of emfs induced in coil sides in a phase

Arithmatic sum of induced emfs in a coil sides of that phase

Arithmatic sum of induced emfs in a coil sides of a phase

Phasor sum of emfs induced in coil sides in that phase
The pitch factor of an alternator is defined as

(A)

Arithmatic sum of induced emfs in a coil

Phasor sum of emfs induced in that coil
Phasor sum of emfs induced in a coil

(B)

! Arithmatic sum of induced emfs in that coil
Phasor sum of emfs induced in coil sides in a phase

(C)

Arithmatic sum of induced emfs in a coil sides of that phase
Arithmatic sum of induced emfs in a coil sides of a phase

Phasor sum of emfs induced in coil sides in that phase

-10- Q
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3-90 oS0 Jrerb @) ¢80 DOASTYD

(a) €8y EG0e5 200 SoBAK BEITS S5808

(b) 5&5% ;')"55 57388000 500050 BEITCS DEIKOBI0E

(c) esCyi56 ¥Boel SrEI08 SoBOKN BT DB

(d) :mg PE0 DEMOS08 50800 SIS SHeood

(A) (a) S8 (b) deso (B) (b) $080%0 (c) Do
(C) (c) 08as» (d) eso (D) (d) 30605 (a) deso
When excitation of 3-phase synchronous motor increases, then
(a) armature current increases and then decreases

(b) power factor decreases and then increases

(c) armature current decreases and then increases

@'(d) power factor increases and then decreases

36.

37.

38.

(A) (a) and (b) are true (B) (b) and (c) are true
(C) (c) and (d) are true (D) (d) and (a) are true

500 Seeode sond 1 mWb a%és Oo§ Bavadod. & $5) 4 ms & 836y eowd sand &
(DTOBE DIED B.DDI.P DO 4 )

(A) —250V (B) —-500V (C) 500V (D) 250V

A coil of 500 turns is linked with a flux of 1 mWhb. If this flux is reversed in
4 ms. What is the average e.m.f. induced in the coil ?

(A) —250V (B) —500V (C) 500V (D)e 250 V

od “%ﬁeaoéﬁ, Zlevrvplels ‘;?E.J Frotses B’ SoB8co eaoi:@"boéﬁém 78 H’ S¢S dowogio 38
(A) B/H = pg, 38¢ g =41 x 1077 3R/

(B) B/H = pg, a8 ug =41 x 107 27D /5o

(C) H/B = pg, 35 pg=4m x 1077 2® /20.

(D) H/B = pg, a8 po =471 x 107 2rQ /o0,

In free space, the relation between magnetic flux density ‘B’ and magnetizing
force ‘H’ is

(A) B/H = png, where py=4mn x 10~7 Henry/m

(B) B/H = g, where py=4n x 107 Henry/m

(C) H/B = p,, where py=4n x 10~7 Henry/cm

(D)e H/B = g, where py=4n x 107 Henry/cm

X

Bod 36" aIOS DErgre KHBOD Bisype [ERSH Joiod.

(A) 38080 HE -waDLIOBO SO0 BTV Fc Zlovervitolrlo

(B) Eerd piE'-eahirmoso Sodako 30AHS P0° LAHIOBO

(C) DBS HE -wahdoso Sbakn Eerd Jrov eabyedo

(D) DS SoB0%0 Serd Dotk PE'-eavroso

Choose a false statement from the following magnetic materials.
(A) Iron is ferro-magnetic and Aluminium is para-magnetic

(B) Cobalt is ferro-magnetic and Tungsten is para-magnetic

(C) Nickel is ferro-magnetic and Cobalt is para-magnetic

(Dp Both Nickel and Cobalt are ferro-magnetic

-11- Q




E@ JL - 1012 - 2022

39. (8od wahired EIrETesd xS HIreTod $0Ded.

(2) [ 883 @) [s2%8,

(b) 5@&0213(50 (i) B?o?gé’)eﬁ

(€) [s8yc8®e3 (i) | soeszS,

(d) | BogS, (i) | gocsges

(A) (@)-(iii); (B)-(v); (©-(); (@-)  (B) (a)-(ii); (b)-(iid); (c)-(iv); (d)-(0)
(C) (2)-(1); (b)-(ii); (c)-(ii); (d)-(iv) (D) (a)-(iii); (b)-(i); (c)-(iv); (d)-(ii)
Match the following magnetic parameters with electrical parameters.
(a) | Reluctivity (i) | Resistance

(b) | Permeance (ii) | Resistivity

(c) | Permeability | (iii) | Conductance
(d) | Reluctance (iv) | Conductivity

(A)e (a)-(iii); (b)-(iv); (c)-(i); (d)-(ii) (B) (a)-(ii); (b)-(iii); (c)-(iv); (d)-(i)
(C) (a)-(1); (b)-(iii); (c)-(id); (d)-(iv) (D) (a)-(iii); (0)-(); (c)-(iv); (d)-(ii)

40.  @ots 30y Serges 8o KVL sdosterors 829 Sood.

i V) =

(C) V;-V3=IR; —I3Ry; V5 + V, = LR, + R,
Check the KVL equations for the following circuit.

(Ap V) + V3 =LiR, + [;Ry; V4 + V, = LR, - [;R,
(B) Vy=V3=LRy + [;Ry; Vo -V, = LR, - [;R,
(C) Vi -Vz=1LR, ~I;Ry Vs +V, =R, + ;R,
(D) Vy=Vg=IR; + 3Ry V5 + V, = L,R, - R,

A -12- Q
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de 30550 K009 Bod Ted 003 Sy ReSBI0e5%0 JowEod.

(A) B8 GBaot, DG Ao IO SogiBodo 900030

(B) 2p0%% syos $Rose DS &) ordude Dabedderon

(C) Ss500583e8 esBy36 sra0dy Mool Desogh HEBRED

(D) @Des K5 $o0d esogd HEOT00

Choose a wrong statement from the following on dc machines.
(A) Function of yoke is to provide mechanical support for poles
(B), Poles are laminated to reduce hysteresis losses

(C) Commutator collects current from armature coils

(D) Brushes collect current from commutator

.55, DGO ESBIERS ) 20 MWD 500010 Srfo, 800 rpm eonSSyce dc 5065 e58ed
100 V o emf «BA coesod. 1000 rpm o8 30 S $§) 24 mWb @it &858
BoHads emf Jog 9

(A) 120V (B) 125V (C) 150V (D) 66.7V
A dc shunt generator has emf of 100 V when the useful flux per pole is 20 mWb

and the speed is 800 rpm. What is the generated emf when flux per pole is
24 mWb at a speed of 1000 rpm ?

(A) 120V (B) 125V (C)a 150V (D) 66.7V
dc 37esb SBooty, 58,36 66y, B B3>Boe50mT G0N0l

(A) Bro, $&) Sodakw esByisd Dogd (B) «Byi36 Desogd Bk ko

(C) Bro So0as0 P&y (D) 38y Sodao esByisd Desogd

Armature torque of a dc motor is proportional to
(A) speed, flux and armature current (B) armature current and speed
(C)» speed and flux : (D) flux and armature current

de 505 3esb SBoo%, IRy ek Brfo Kol gE° DOVIWY.

(A) &85 DodoRS HOXE" KR Joerds EBH 205650

(B) 5 Bodohs’ HERE" 3§ Sathards EBRLS Bhoidto

(C) eyi56 Bodohd’ ODE' KI§ Batbrrdssd Bt Bhotito

(D) 5§ BodohS’ DG’ $1§ Babwds B Dot

Speed of a dc shunt motor can be increased above rated speed by

(A)e increasing the resistance connected in series with armature winding
(B) decreasing the resistance connected in series with field winding

(C) decreasing the resistance connected in series with armature winding
(D) increasing the resistance connected in series with field winding

-13- Q
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45. dc 3rerd

46.

) G, Brio-erE), ofrren @ots wrBwgon. de 5ot $obake 65 ey B0k,
OFETON !{ggoﬁoct.

A

Speed

Torque
(A) 555 A sobas» 86¢ C (B) 56g C so0a» ¥6; D
(C) 855 A SoB0w» ¥6¢ D (D) & B so8oso 86 D

Speed-torque characteristics of dc motors are shown below. Identify the
characteristics of dc shunt and series motors.

hhhhhhhhhhhh . D

Torque |
(A) curve A and curve C (B) curve C and curve D
(C) curve A and curve D (D)s curve B and curve D

Soddd 3103)65‘303 Z 3080 Z 5, BIToBBoIT esokomrlosad &083, 95575050 B00B0 (SIFES 2500050
NE%s0.

ZZ, Z, +2Z, Z,Z, Z, -2,
S 0800 - 3 Soboso ZL— 2
(A) Sk Z, +2, 72, (B) s&oum Z. -z, 7.7,
- ZZ
(C) seoom z—‘zz—z% SoBakn ——1=2 (D) ssosm 2t %2 pup, LZs

1<2 Zl - Zz lez Zl N Zz
If two impedances Z, and Z, are connected in parallel, then the total admittance
and impedance are

ZZ, Z,+2Z, 7.7 7 _7
(A) and respectively (B) —'—2— and —! 2 respectively
rZ,+2, ZZ, )= 23 Z.
Zl - Z2 ZIZ2 . zl e zQ R lez .
(€ 77, and Z, -7, respectively (D) ———~Zl 2 and Z +z, respectively
-14- Q
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e85y ac S So7rwo S8 G5 Ac K305 Sarreo GRSt BONGHIY0 F

(A) SERT @S0 H$80H0 BH0BO (B) St Sowry SoB05) 07

(C) STodne DTy S0B050 oo (D) S8 esoso Sodakn Howey

The source impedances of ideal ac voltage source and ideal ac current source are
(A) infinite and infinite respectively (B) zero and zero respectively

(C)e zero and infinite respectively (D) infinite and zero respectively

npn 358050 pnp Erygbe B0y, ?oz,;is"eSE SRIVAEUSERE

C E C E
K
npn N pnp c npn E pnp &
E C C C

© B< B‘< D) B< B<
npn C pnp E npn |E pnp E

The schematic representations of npn and pnp transistors are

C E C E

* { : e w< <
c

npn & pnp npn 1B pnp 1€

E C C C

© ° 7< B< ) B~< B<

npn 1C pnp B npn |E pnp |E
I 38y0 Vg G329%, BJT ofprod’ x-efo 5000500 y-e50 P &3y (@Posromd I woerdd ?
(A) St Gosrde Erodo Sobako KeS-esh @rogho
(B) 60 Sotys @rodio 50805 @arde @rodo
(C) SEosm 5e5-esp [Frodo $o0a Hodys [Froso
(D) $8odn° S0y @rodo $20050 ¥eS-esq [rodio
In BJT characteristics of Io vs. Vg, the regions adjacent to x-axis and adjacent
to y-axis are called
(A) Active region and Cut-off region respectively
(Bl Saturation region and Active region respectively
(C) Cut-off region and Saturation region respectively

(D) Saturation region and Cut-off region respectively

-15- Q
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50. &g 8torio 350 3805 v =314 sin(50 mt)wand, e S’ ©PeSsHes G S8
©:9e5e5 33350y Bt Ho Densen
(A) 200 V $o8os» 0 Hz (B) 100V 508a5» 50 Hz
(C) 100V %0805 0 Hz (D) 100 V $08a» 25 Hz
If input of a half-wave rectifier is v, =314 sin(50 nt), then nearest values of
average output voltage and output frequency are
(A) 200V and 0 Hz (B) 100 V and 50 Hz
(C) 100V and 0 Hz (D) 100 V and 25 Hz

S1. RoRE-98 ac $6 558, wpor FGE Mbats Dsogd v =200 sin [ 120 nt — %) So8050
i =10 sin [120 nt + %J W50° FIgER00. @y godes 956 88 So80%w 3Sves 356

[0 GOLINOD,
(A) 388 0.5 Iso¥ds 2 kW (B) S35 0.5 308845 0.5 kW
(C) 5608m 0.5 Savocsoess® 0.5 kW (D) 5805m 0.5 Swotoess® 2 kW

In a single-phase ac circuit, the supply voltage and current are given by :
v =200 sin (120 nt — %J and i =10 sin [120 Tt + g) . Then input power factor

and input power are
(A)e 0.5 lagging, 2 kW respectively  (B) 0.5 lagging, 0.5 kW respectively
(C) 0.5 leading, 0.5 kW respectively (D) 0.5 leading, 2 kW respectively

52. &5 RONS-30 ac 567,55 (20 ~ j20m) Q 3 53§ Fawds 30035, 5O dod. B850 85350y
50 Hz & &elriz, 35965 96058 35965 58" $86° coder 1656 53§ S 3063,
Q0330 EoRTeSod.
(A) 200 mH (B) 2000 mH (C) 500 mH (D) 5000 mH
A single-phase ac circuit has a connected impedance of (20 - j207)Q. Find the
value of inductance to be connected in series so that input current should be

in phase with input voltage, assuming supply frequency is 50 Hz.

(A) 200 mH (B) 2000 mH (C)* 500 mH (D) 5000 mH
A -16- Q
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53. e DORS-HB ac w57 558", ¥oPor S, BEHo S0 DS B 5o FSgRETO0.
v=100 sin | 90 =t — %] SoBas» =100 sin (90 nt - %) P50 95
!
l

Sobako V&S0
(A) 45 Hz, ¢ (B) 45 Hz, J8°¢E $o00%0 (58
(C) 50 Hz, 28 (D) 50 Hz, I8 500050 73S

In a single-phase ac circuit, the supply voltage, supply and current are given by :

v=100 sin (90 nt — —g—j and 1=100 sin (90 nt - %) The supply frequency is
and the impedance is
(A) 45 Hz, resistive (B) 45 Hz, resistive & inductive
(C) 50 Hz, resistive ,(Dp 50 Hz, resistive & capacitive

54. 5006 SEHR XD Sarth P By Defog 780 FosES Treddue:bo ddofio Ingo
900 W 5:00%0 830fe 8 450 W. meioeod sdase 936 sy dlorboms K5 Soc.

(A) 675 W, 225 W, 2/4/7 (B) 675 W, 225 W, /3/2
(C) 900 W, 450 W, 2/47 (D) 900 W, 450 W, /3/2
The sum of the readings of Wattmeters is 900 W and difference of readings is

450 W to measure a three phase balanced power using two Wattmeter method. /
Find the readings of Wattmeter and power factor.

(A) 675 W, 225 W, 2/+/7 (B) 675 W, 225 W, +/3/2
(C)p 900 W, 450 W, 2/+/7 (D) 900 W, 450 W, v/3/2

55. V008, 50050~ 500 950> TGS 500500 I, G008, 280> 5 Modows G &°& Boog) Soedd
BEy5S0% wrvorrlotnd Goll, ey 85 FGE, 15 TG, 85 Doy S0k &'E Qoo PR
E30L5 3E° GOLI0N
(A) VL/V3,Vy, I, I (B) Vi, Vp, I, 1/V3
(C) Vi, VL/V3, 1,1 (D) Vi, Vy, IL/V38, I
If a three-phase supply voltage of V; and supply current of I are connected to

three terminals of a balanced delta load, then the line voltage, phase voltage,
line current and phase current of the load are

(A) VL/V3, VL, I, I B) V_,Vy, I ,1/3
(C)‘ VL ’ VL/\/B, IL ’ IL (D) VL ’ VL ’ IL/\/S) IL |

A’ -17- Q
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56. ol M8 5e5 WYy So7ehd F&e $¢5 Agd BAEGeETOS EAHod.
1 2 3

Write the current equations at three nodes of the following circuit.

3A

Al -1,-3=0;1,+I;=I;1, =1 +5
B) I;+I,+3=0;I,+I;=I; [, =I;-5
(C) 1 +1,-3=0;,-I;=1,;, =I5
D) I} +1,-3=0;1,~I;=I; I, =1 +5

07 Sores 2Q TR drodSorr o 2 Q 8h36es’ HRE” essvorrlosnrro. SESce
S5 100 V 0008, 557088 56 .5 20 8266° o0k HED 2e56° 2.5 2Q T23366° s
B Jod ¢
(A) St 10V, 90 V
(B) st 10V, 30 V
(C) s 30V, 10V
(D) 5t 90V, 10V

Three 2Qresistors in parallel are connected in series with three 2Q resistors
in series. If the supply voltage is 100 V, what are voltage drops across a single
2Q) resistor in parallel set and a single 2Q resistor in series set ?

(A) 10V, 90 V respectively
(B)e 10 V, 30 V respectively
(C) 30V, 10 V respectively
(D) 90V, 10 V respectively

A -18- Q )
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58. Qo (a) & Sareso HOE e gseEon. Do (b) & voeodd RO e BT Sod.

59.

60.
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2Q
3
3Q§ 4Q
Fig. (a) Fig. (b)
2 8 12 6 8 4 2 4 4 n 8 4
A) — = — B) —;— = C — = = D) =2.=. L
()999 ()999 ()333 ()3’9’3

Three resistances in Fig. (a) are given. Find the corresponding resistances in
Fig. (b)

SAA
2Q
3
3Q é §4Q
Fig. (a)
2 8 12 6 8 4
9°9 9 9’9’9 3°9° 3
28oh 5 Jo§Ges Jod §dd’ 78 D odl B S0 Gowd.

(A) 2;13"2)0 &sdsBeo Bots 2.5 D

(B) &0 58800 §os 1.5

(C) o b0 §ots 3.5 D

(D) g7 &30S0 §ods 3.0

Earthing plate electrodes should be buried such that the top edge is at a depth
not less than

(A) 2.5 m below the surface of the ground

- (B) 1.5 m below the surface of the ground
- (C)e 3.5 m below the surface of the ground

(D) 3.0 m below the surface of the ground
Socs56 oo, HOE°E0 P L’ Sodak Fgrgo R’ G3og, Ay B8 $5rso.

(A) L?/R (B) L/R (C) L/R? (D) L?/R?
Resistance of a conductor of length ‘L’ and radius ‘R’ is proportional to
(A) L2/R (B) L/R (Cl L/R2 (D) L2/R?

-19- Q
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61.

62.

. o
E 30000 V &t Sobadd Bor (883:8) 500 8836 Sgde, I, I, o0a I 88,
e58)56 3000 ¢ K0oeSen 3080k R, 36 esByisE B2S) 00w, K065 3586 30005 506
3rerd Gy FGeS 5o80K0 5305 BAoESeTen 3T dosT00.

(A) V=E-LR;L =1 -1 $0a0V=E+LR ;I =1 +I stosm ‘

a a a’
B) V=E+LRyL =L -T 8800 V=E~LR;I =1 +I Stosm |
(C) V=E-LR;I =[ +] &80 V=E+LR;I =I -1 stoom
D) V=E+LR;I =1 +I 000 V=E~LR;I =1 -1 st |
IfE and V are generated (or induced) and terminal voltages, I}, I, and I;are line, .i
armature and field currents and R, is armature resistance, then the voltage

and current equations of shunt generator and shunt motor are
(A)yV=E-ILR;L =1 -1 andV=E + [LR,; I} = I, + I; respectively
(B) V=E+LR;I[=I - andV=E-IR ; I, = I, + I respectively

a a’

a a’
(C) V=E-LR,; I =1+ If and V=E + R ;I; =1 -1 respectively
(D) V=E+LR;; =1 +I andV=E - I,R,; It = I, — I; respectively

TS0 eGHBE $od rSrsbe Sse 0P,

(a) [8°6 550 i [E
(b) | 26 &30 (i) | L
(iii) | I
(iv) | LI
(v) |EL G
(vi) | EI
(A) (a)-(i); (b)-(iv) (B) (a)-(i); (b)-(vi) |
(C) (a)-(iii); (b)-(iv) (D) (2a)-); (b)-(v)

Match the following types of transformers with shape of laminations.

(a) | Core type | (i) |E
(b) | Shell type| (ii) |L
(iii) | I '
(iv) | LI
(v) [EL |
(vi) [ EI r

|

(A) (a)-(ii); (b)-(iv) *(B) (a)-(ii); (b)-(vi)
(C) (a)-(iti); (b)-(iv) (D) (2)-(i); (b)-(v)
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50 Hz 68, $iie (906 emf D 88050d, 2oRS-58 TS5, 450 ErEROY Soeoeo S0
KO8y Froses 0.06 Wh. ‘

(A) 7636V (B) 5994V (C) 5400V (D) 4239V
Calculate average induced emf of a 50 Hz, single-phase transformer having
450 primary turns and a maximum flux density of 0.06 Wb.

(A) 7636V (B) 5994V (C)* 5400 V (D) 4239V

252 kV, 20 KVA HoRE-50 erSyr6y568° 25068 400 Sovvden Sodath 25068 50 Sreoden
S0e00. (PEE SoBaKo BB FTRios: 88oB0s.

(A) S8 80 A 00050 10 A

(B) s6o0m 1 A $oBos» 8 A

(C) 383 100 A Sobcso 800 A

(D) 363 10 A $50ak0 80 A

A 2 kV, 20 kVA single-phase transformer has 400 turns in primary and 50 turns
in secondary. Calculate primary and secondary currents.

(A)e 80 A and 10 A respectively

(B) 1 A and 8 A respectively

(C) 100 A and 800 A respectively

(D) 10 A and 80 A respectively

BORG-35 (ErSTH5 0¥, 50555 DB 0.2. D 8DA &ob. AT @i G 50 Bz, I-6G
3¢5 O Soeode B S000k e WG ST ok,

(A) Seosre 5 Sodako 0.2

(B) S0 0.2 $0805%0 5

(C) Seoxm 5 Sodak» 5

(D) store 0.2 300k 0.2

A single-phase transformer has a transformation ratio of 0.2. Find its turns
ratio and voltage ratio at no-load, neglecting impedance drop.

(A) 5 and 0.2 respectively
(B)e 0.2 and 5 respectively
(C) 5 and 5 respectively

(D) 0.2 and 0.2 respectively
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PART -B
@0LOTaN0 ([BH0S08% & S¥os’ %o
(A) 35 (B) Sfoscoh (C) erd (D) &3
In which country in the world life €xpectancy is highest ?
(A) Canada (B) Hong Kong (C) Japan (D) Norway
SIS Ta0D0 oo’ 8od Te36° 58 T8 dod 9 v
(A) ersssso (B) &g (C) 3~ - (D) UsaA

Which of the following countries is at the top position in emission of
Green House Gases ? '

(A) India (B) Russia (C) China (D) UsA
TECLPE T30 yed FoAAHS AHTFDALSE DEEHERE 9

(A) 1948 (B) 1950 (C) 1956 (D) 1953
When was Hyderabad State incorporated into Indian Union ?

(A) 1948 (B) 1950 (C) 1956 (D) 1953
R'&10¢s ovesgo B8 BRE JoBod 9

(A) Seren (B) sgs5drano (C) Sofso (D) &0
Golconda kingdom was famous for

(A) Diamonds (B) Agriculture (C) Music (D) Dance
&8 SERBED 47 5008 oo’ 29 K08 erdses. BEIYO FBO Jods 9 ‘
(A) 67.1 (B) 76.1 (C) 61.7 (D) 63.6
Out of 47 children in a class, 29 are girls. What is the percentage of girls ?
(A) 67.1 (B) 76.1 (C) 61.7 (D) 63.6
8ol 708" 2risererEE adyons gres OB S8 2

(A) =56 8. oorgns (B) 8. 88 0oty

(C) deo oS0 (D) 5588 esd YO

Who among the following President of India was born in Hyderabad ?
(A) Dr. 8. Radhakrishnan (B) Dr. Zakir Hussain

(C) Neelam Sanjeev Reddy (D) Fakruddin Ali Ahmed

&8 P30 (esoey DO SOR dotod, |

(A) 500 B Rgigeotss (B) 008" e.eagoeseir

(C) o8 w008 Sssito esmrgr (D) 8% ©38Go00sEr

Gram Sabha in a village consists of

(A) All elder members in a village (B) All voters in a village

(C) Entire population of a village (D) All the elected representatives

868 (300 rd o grosBio S AR Mostores edarss 9 )

(A) 21 doséyoren  (B) 22 doddhoren  (C) 23 vodthoreo (D) 24 SoS&yoren
Indian Cricketer Ms. Mithali Raj played for India for

(A) 21 years (B) 22 years (C) 23 years (D) 24 years
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79.

80.

3,7, 15, 31, 63,
(A) 92
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@080 (3008 85050 Sogiso KoGoiSod.

(B) 127

(C) 115

Identify the next number in the order : 3, 7, 15, 31, 63,

(A) 92

(B) 127

(C) 115

50873070 AR B oo L.EI0 Vg Ed 7

(A) 12

(B) 7

(€) 9

Once in how many years Kumbh Mela is held ?

(A) 12

(B) 7

(C) 9

B0, s EoedE™D 208 grmred® DO ESGrRosatiiod

(A) 005

(B) sy

() 85

(D) 131

(D) 131

(D) 6
(D) 6

(D) BedSo

In eye donation, which one of the following parts of donor’s eye is utilized ?

(A) Iris

(B) Cornea

(C) Lens

Bod 73" O gogsso BES BOPgSEr ST SGEHHECD ?

(A) deé

(B) 256

©) yEes

(D) Retina

(D) &6

Which of the following fuels causes minimum environmental pollution ?

(A) Diesel

(B) Petrol

(C) Hydrogen

(D) Kerosene

P8BS 80 Fromred’ DO gy DS oS F%S yS' e SoKelosncEd 2

(A) esorssd @ed

- (B) ZJOC,SS ﬁt%

(C) S8y Koo

(D) L0y Edosoen

Which one of the following regions in India is now regarded as an ‘ecological ' _

hot spot’ ?

(A) Aravalli Range
(C) Western Ghats

(B) Vindhya Range
(D) Eastern Ghats

({505 GO Hog (500, Bek B Sopgd’ Sew SoserdE sesciy %50

(A) JQJJ&J

(B) 5556

(C) Moot esengyen

(D) COVID-19

According to World Health Organization, the disease which causes the death
of the largest number of people today is

(A) AIDS

(B) Cancer

(C) Heart disease

EoB 36" &, Derd 23858 Horofodss DS 9

(A) =4

(B) @&

(C) &3¢

(D) COVID-19

(D) DeSerd

Which among the following is related to Ms. Nikhat Zareen ?

(A) Hockey

(B) Boxing

(C) Cricket

-23-

(D) Football



" ‘- B == DE N I N I O O N . N - - - - - -‘o ‘
Il @ qq@ <D B2 L( i %
I Question Booklet Code g §l
Question Booklet (1012) 7 g
A JL - 1012 - 2022 2

Hall Ticket No.| 2 | 4 | Y 21y lR

I Name of the Candidate : C D UTJO 'IDYOA Sa.—.—l

Date of Examination

OMR

!':P/CJ'-?- /;.02,2—

Answer Sheet No. : q U 243

Il Signature of the Candidate with Date : CQ%{" ' ?" O?l 2022

Signature of the Invigilator with Date

b gy

Max. Marks : 80

1.

Instructions :

This Question Booklet consists of 80 multiple choice objective type questions to be
answered in 120 minutes. PART - A consists of 65 Multiple Choice Questions and
PART - B (General Knowledge) consists of 15 Multiple Choice Questions.

Every question in this booklet has 4 choices marked (A), (B), (C) and (D) for its
answer. «

Each question carries one mark. There are no negative marks for wrong answers.
This Booklet consists of 24 pages. In case of any discrepancy or defect in the booklet, the
same may be informed to the Invigilator and new Booklet of same code may be taken.
Ensure to bubble the appropriate Question Booklet Code (A/B/C/D) on the OMR
Answer Sheet. -

Answer all the questions on the OMR Answer Sheet using Blue/Black ink ball point
pen only.

Before answering the questions on the OMR Answer Sheet, please read the instructions
printed on the OMR Sheet carefully.

The OMR Answer Sheet should be handed over to the Invigilator before leaving the
Examination Hall. The Question Booklet is to be retained by the candidate.
Calculators, Mobile Phones and any other Electronic gadgets are not allowed into the
Examination Hall.

The seal of the Booklet should be opened only after signal/bell is given.

In case of any discrepancy in Telugu translation, English version shall be treated as
final.
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